CHAPTER IV

FINDINGS

After doing all the steps mentioned in the previous chapter, the researcher

would like to present the result of the data finding and the discussion.

A. Data Presentation
This sub-heading presents the findings which derived from research
problem in which the first question concerned with the types of deixis
found in the novel entitled Everything about Him by Rita Clay Estrada.
Then, the second problem is what is the function of deixis found in the

novel entitled Everything about Him by Rita Clay Estrada.

1. Types of Deixis Found in the novel entitled Everything about
Him.

There are three main kinds of deixis, they are person, time, and
place deixis. In person deixis, it divided into three parts: first,
second, and third person deixis.

a. Person Deixis
Person deixis is a word referred to the person being uttered.
There are three main kinds of this type, such as first, second,

and third person.
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1) First Person

First person deixis is refers to the speaker’s himself.
Subject “I” is the singular pronoun while “we” is the plural.
“Me” and “us” are included here as the object. The words
“my” and “our” are without exception too. The utterance “I

"’

can’t think anymore, Miss Gallagher!” is one of the examples
of first person deixis. However, the researcher presented the
data only one case among the variants occurs. Those were the

data that consist of first person deixis.

Excerpt 1

(chapter 1. Page 06)

Barbie . “I can’t think anymore, Miss Gallagher! (1)
I am so hurt! How could he deny he’s the
father? He’s the only one in my life, ever.
And I love him so much!”

Gallagher : “Is he someone from school?”

Barbie :“Yes.”

Description of context:

Barbie and Gallagher were in the office after Barbie went
home from the school. She told Gallagher if she felt anxious.
Then, she said that she cannot think about her case anymore
because she afraid of her father.

In utterance (1), the utterance said by Barbie. There was a
first person deixis, I. It referred to the speaker herself, Barbie.
She wanted the listener to know her case with her father. She

expected that they could solve the problem.
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Excerpt 2

(chapter 1. Page 7)

Barbie : “I don’t know, but I can’t imagine him
doing this to me! He loves me (2), | know it!
And if he doesn’t, I’ll be ruined!”

Gallagher : “Not ruined Barbie. But I won’t lie to you.
The next year won’t be easy.”

Description of context:

Barbie and Gallagher were in the office after Barbie went
home from the school. She told Gallagher if she was very
confused. Then, she said that she loved her boyfriend so much
and if her boyfriend not loved her, she will be ruined.

In utterance (2), the utterance said by Barbie. There was a
first person deixis, me. She wanted the listener to know that
she was very confused about what should be done. She did not

believe that her boyfriend did not want to responsibility and

deny that he was the father of her unborn child.

Excerpt 3

(chapter 9. Page 201)

Flyin - “You are my boy.”(3)
“l used to think you had all the answers.
Knew what to do and when to do it.”

Ben Damati : “Thanks.”

Description of context:
Flyin and Ben Damati were in the Ben’s house when
Flyin, Ben’s father, and Ben’s mother visited him to meet the

Barbie’s baby. When they arrived in the Ben’s home, Ben was
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busy on his job whereas Flyin wanted to make a conversation
with Ben Damati.

In utterance (3), the utterance said by Flyin. There was a
first person deixis, my. He wanted the listener to know that the
listener was part of his life. He wanted to show that he loved
his boy very much and cared with him by gave him an advice
about the relation between his boy and a woman who loved

him very much.

Excerpt 4

(chapter 9. Page 215)

Ben Damati : “.... We’ll get married by a judge friend of
mine......” (4)

Gallagher : “Yes dear”

Description of context:

Ben Damati called Gallagher when Gallagher in the
Georgina. At that time, Ben Damati and Gallagher were in
different place. Gallagher in Georginia because she wanted to
forget Ben forever from her life. Ben Damati called Gallagher
and said that he loved her very much. He expected to marry
with Gallagher.

In utterance (4), the utterance said by Ben Damati. There
was a first person deixis, we. It referred to Ben Damati and
Gallagher. He wanted the listener to know that actually he

loved Gallagher so much that never yet he expressed before.
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Excerpt 5

(chapter 1. Pagel0)

Barbie : “No. It’s just the two of us”(5)
Gallagher : “Give me his number”

Description of context:

Barbie and Gallangher were in the Gallagher’s office after
Barbie went home from school. Gallagher wanted to call
Barbie’s mother, but in her home there were just Barbie and
her father. She did not have mother because her mother died
when she was seven years old. So, she told to Gallagher that
she did not have a woman as the figure in her life after her
mother died.

In utterance (5), the utterance said by Barbie. There was a
first person deixis, us. Us here reffered to Barbie and her
father. She wanted the listener to know that she did not have

others in her life except herself and her father. Not any woman

there.

Excerpt 6

(chapter 7. Pae 168)

Steve . “My parents don’t know I’m here”
Gallagher : “Don’t worry

“It’s not our place to tell them” (6)

Description of context:
Steve and Gallagher were in the office after Steve went
home from the school. Steve wanted to tell about his case that

happened with Barbie to Gallagher. His parents also did not
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know about this. So, he asked to Gallagher where were his
parents whether in that place or not because he was also afraid
to them.

In utterance (6), the utterance said by Gallagher. There was
a first person plural deixis, our. It referred to the Gallagher and
Steve. The speaker wanted the listener to know that there were
no one in their room except two of them. Their aim was just to

talk about the thruthness of Barbie and Steve, not his parents.

2) Second Person deixis

Second person deixis is the encoding of the speaker’s
reference to one or more addressees. In second person deixis,
included words are: “you” and “your”. The utterance “Yes,
thanks. Did you tell Barbie I'm here?” is one of the examples
of second person deixis. However, the researcher presented the
data only one case among the variants occurs. Those were the

data that consist of second person deixis.

Excerpt 7

(chapter 2. Page 29)

Ben Damati : “Yes, thanks. Did you tell Barbie I'm
here?” (7)

Gallagher : “Of course, but she wasn’t too thrilled with

choice of breakfast pastry. ........ ”
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Description of context:

Ben Damati and Gallagher were in the Gallagher’s home
when Ben Damati visited his daughter, Barbie. Galagher
showed Barbie that her father was coming, but Barbie did not
response it.

In utterance (7), the utterance said by Ben Damati. There
was a second person deixis, you. It referred to the addressee in
the utterance that is Gallagher. He wanted the listener to know
that he hoped his daughter to meet him. He wanted to know

about the condition of his daughter who still did not want to go

home.

Excerpt 8

(chapter 1. Page 15)

Gallagher : “Have you told your dad this?” (8)

Barbie : “his answer is that he’s my dad and I

shouldn’t feel alone. He’s there for me.”

Description of context:

Barbie and Gallagher were in the Gallagher’s office when
Barbie shared about her family’s relation between Barbie and
her parents. Ben was the busy man. He did not has enough
time to her daughter. It made her father frequently abandoned
her. Gallagher expected that she can make Barbie more relax.

In utterance (8), the utterance said by Gallagher. There was
a second person deixis your. The situation happened when they

talked about Barbie’s father whether he knew her case or not.
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So, Gallagher could communicate with Barbie’s family to solve

of the problem.

3) Third Person deixis

Third person deixis is the word that referred to person that
are neither speaker nor addressee in utterance, or in other word,
third person deixis is deictic is a word that referred to a referent
which is not identified as the speaker or addressee. In third
person deixis, included words as subject like “he, she, it” and
called singular personal pronoun, while “they” as the plural
personal pronoun. And as the object like: “him, her, it, and
them”. The utterance “Well, he’s here now” is one of the
examples of third person deixis. However, the researcher
presented the data only one case among the variants occurs.

Those were the data that consist of third person deixis.

Excerpt 9

(chapter 7. Page 170)

Gallagher : “Well, he’s here now!” (9)

Ben Damati : “And so am I. Let’s get down to business.”

Description of context:
Ben Damati and Gallagher were in the Gallagher’s office
when Steve came to meet with Ben Damati. Steve was very

scared when he walked into the room.
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In utterance (9), the utterance said by Gallagher. There was
a third person deixis, he. It referred to Steve. He wanted the
listener to know that Steve came because he would met with
Steve to talk about the problem. The speaker also wanted to

know who was the boy that made his daughter changed

drastically.

Excerpt 10

(chapter 4. Page 69)

Elisabeth : “She needs time, Ben” (10)
Ben Damati : “Damn it!”

Description of context:

Ben Damati and Gallagher were in the Gallagher’s home
when they went home from the grandmother’s wedding. The
situation described was Barbie and Ben Damati debated about
their different ways to solve of the problem.

In utterance (10), the utterance said by Gallagher. There
was a third person deixis, she. It referred to Barbie. The
speaker wanted the listener to know that Barbie had different
think with him. It made they argue and Barbie hate with her
father. The speaker also wanted to give the understanding to
him that Barbie still needed the time to solve the problems.
Excerpt 11
(chapter 2.page 27)

Barbie : “It should stop completely in another

month or so. ......” (11)
Gallagher : “For some.”
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Description of context:

Barbie and Gallagher were in the Gallagher’s home when
Barbie got up in the morning. Barbie was hurt herself by
crossed her arms over her almost-flat tummy. Her skin was a
light shade of green.

In utterance (11), the utterance said by Barbie. There was a
third person deixis, it. It refered to the bad codition in the
morning. She wanted the listener to know that she was very

hurt about the problem that happened to her.

Excerpt 12

(chapter 3. Page 56)

Ben Damati : “ Are they married?” (12)
Gallagher : “They both are”

Description of context:

Ben Damati and Gallagher were in the kitchen of Ben’s
home when they met to talk about how to solve the problem.
Meanwhile they were talked about the problem, Ben asked
about the family of Gallagher, so Gallagher told about her
family actually about her sister she has.

In utterance (12), the utterance said by Ben Damati. There
was a third person deixis they. It referred to Gallagher’s sister.
She wanted the listener to know that she had three sisters. The
first named Virginia. The second is Mary Ellen, and Gallagher

was the third. Then he asked to her that did Virginia and Ellen
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were married or not. Gallagher answered that both of them was

married.

Excerpt 13

(chapter 1. Page 8)

Barbie : I’ve seen him angry before, but not like
this.” (13)

Gallagher : “He’s as upset about this as you arre
because he loves you.”

Barbie : “He’ll get meaner, Miss Gallagher. I just

don’t know what to do.”

Description of context:

Barbie and Gallagher were in the Gallagher’s office when
they went home after school. Barbie was very afraid about
what would she doone if her father know the problem.

In utterance (13), the utterance said by Barbie. There was a
third person deixis, him. It referred to Ben Damati. She wanted
the listener to know how was her father if he was angry. She

hoped that the listener did not tell the problem to her father.

Excerpt 14

(chapter 2. Page 33)

Gallagher . “Give her time. She’ll find her own
solutions” (10)

Ben Damati : “You mean stay out of it?”

Gallagher : “Not Exactly. ........ ”

Description of context:
Ben Damati and Gallagher were in the Gallagher’s home

when Ben visited his daughter to know her condition. Ben
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asked to Gallagher to give him the solution of Barbie’s
problem.

In utterance (14), the utterance said by Gallagher. There
was a third person deixis, her. It referred to Barbie. She wanted
the listener to know that she asked Ben to give time for Barbie
to find for the solution of her problems. One of the solution that
expressed by Gallagher was Ben had to marry again because

Barbie needed the figure of mother that was she missed.

. Spatial Deixis

Spatial deixis is a word that referred to the speaker location
of utterance. In Eglish, there are two terms in deictic of place,
proximal and distal. Proximal terms mean that near the speaker
such as here and this. In distal terms means away from the
speaker such as there and that. The utterance “is my daughter
here?” is one of the examples of third person deixis However,
the researcher presented the data only one case among the

variants occurs. Those were the data that consist of spatial

deixis.

Excerpt 15

(chapter 1. Page 17)

Ben Damati . “Is my daughter here?” (15)
“Baby?”

Barbie : “Hi, Daddy,

I thought you had hat important meeting and
couldn’t be disturbed.”
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Description of context:

Ben Damati and Barbie were in the Gallagher’s office
when Ben received the email from Gallaher that his daughter
was in Gallagher’s office. When Ben arrived in the Gallagher
office, Barbie was very happy but she still afraid with her
father.

In utterance (15), the utterance said by Ben Damati. There
was a spatial deixis, here. It referred to the location where
Barbie to be (Gallagher office). He wanted the listener to know
that he wanted to meet his daughter by came in the Gallagher
office. He came in the office after got the email that sent by

Gallagher to pick up his daughter in Gallagher’s office.

Excerpt 16

(chapter 9. Page 195)

Ben Damati : “Elisabeth, are you there?” (16)
Gallagher : “Yes Ben, I’'m here. ........ ”?

Description of context:

Ben Damati and Gallagher were in the different place
when Barbie born her baby in the morning at the hospital. Ben
was very happy because he became a grandfather for his first
grandchild.

In utterance (16), the utterance said by Ben Damati. There
was a spatial deixis, there. It referred to the location of

Gallagher. The speaker called her but she was quite just a
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moment with cried, so he asked Gallagher were she still heard
what was his speak. He wanted the listener to know that he
wanted to inform Gallagher how much he was very happy that

he was became grandfather for the first time.

Temporal Deixis

Temporal deixis is a word that referred to the time of
speaker’s utterances. The forms of temporal deixis like now,
then, yesterday, tomorrow, today, tonight, next weeks, last
weeks, and this weeks. The utterance “I’ll pick you up
tomorrow about seven-thirty. Okay?” is one of the examples of
temporal deixis However, the researcher presented the data
only one case among the variants occurs. Those were the data

that consist of temporal deixis

Excerpt 17

(chapter 6. Page 143)

Ben Damati . “T’ll pick you up tomorrow about seven-
thirty. Okay?” (17)

Gallagher : “For what?

Ben Damati : “Dinner”

Description of context:
Ben Damati and Gallagher were in the Gallagher’s home.
The situation described was in the night when Ben Damati

went home from Gallagher’s home. It was about night, because
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they still about the stars that they seen. Ben told her that he
would pick her up tomorrow.

In utterance (17), the utterance said by Ben Damati. There
was a temporal deixis tomorrow. It referred to the time when
Ben would pick up Gallagher on the next day after they met in
that night. He wanted the listener to know that he wanted to

pick up Gallagher in the next day after they met at that night.

Excerpt 18

(chapter 1. Page 23)

Ben Damati : “No, there’s no one in my life now” (18)
Gallahgher : “What a shame?

Ben Damati : “Enough!”

Description of context:

Ben Damati and Gallagher were in the Gallagher’s home.
The situation in the night when Ben Damati invited his
daughter to come back in their home, but Barbie still did not
ready to go home. Then, Ben and Gallagher talked about
Barbie. Gallagher asked Ben to marry again because Barbie
looked for a mother figure. Then Ben said that there was no
one in his life now.

In utterance (18), the utterance said by Ben Damati. There
was a temporal deixis now. It referred to the time word now
here meant that for that time, Ben still did not want to married
again. He did not want to marry again because he could not

love other women like how much he loved Jeanny (his wife
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that died because of breast cancer). He felt that he could not

care her wife. So, in that time, he just focused on her daughter,

Barbie.

Excerpt 19

(chapter 4. Page 75)

Ben Damati . Great, in today of equality, I still have to
act as if I know what I’'m doing” (19)

Gallahgher : “that’s right”

Description of context:

Ben Damati and Gallagher were in the Gallagher’s home.
They would come to the party of Ben’s mother marriage. Ben
picked her up in Gallagher’s home.

In utterance (19), the utterance said by Ben Damati. There
was a temporal deixis today. It referred to the time that it is a
special day. At that time, Ben would went to the party of Ben’s

mother marriage.

Excerpt 20

(chapter 1. Page 7)

Gallagher . “...... But I won’t to lie you. The next year
won’t be easy.......” (20)

Barbie : “All 1 know is | want to run away. But if |

do, my dad will kill me!”

Description of context:

Barbie and Gallagher were in the Gallagher’s office after
Barbie went home from school. Barbie was very confused and
felt hopeless in her life. Then Gallagher gave support and

advice to her.
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In utterance (20), the utterance said by Gallagher. There
was a temporal deixis next year. It referred to the time in the
future that would be passed by Barbie in through her life. She
wanted the listener to know that her live in the future was still
long. Barbie suggested to did not ruin from the problem that

happened in her life. Every problem always had to be solve.

Excerpt 21
(chapter 9. Page 194)
Ben Damati : I’1l take you
“What time?
Gallagher : “Ten o’clock!”
Ben Damati : “See you then.” (21)

Description of context:

Ben Damati and Gallagher were in the different places.
Ben called Gallagher after Barbie was delivering. Ben was
very happy because he was became a grandfather and he hoped
that Gallagher was happy too.

In utterance (21), the utterance said by Ben Damati. There
was a temporal deixis then. It referred to the time when Ben
would met Gallagher after in ten o’clock. So, he wanted the
listener to know when Ben would pick up Gallagher before ten
o’clock. He wanted Gallagher know his grandchild in the

hospital.
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2. The Percentage of Deixis Found in The Novel Entitled
Everything About Him.
In this stage, the researcher presented the frequency of the deixis
types Found in the novel entitled Everything about Him. The result
of the counting was transformed into percentage. In this stage the

researcher uses the pattern as follow:
F
2% = N x 100%

Note:
% = symbol of percentage
F = frequency of the occurrences of each Implicatures

N = Total number of Implicature

Table 2.1 Frequency of Deixis Types Found in the Novel
“Everything About Him” by Rita Clay Estrada

No. Types of Deixis F %
1. | Person deixis 465 82.30

2. | Spatial deixis 29 5.13
3. | Temporal deixis 71 12.57

N 565 100

Based on the finding above, the researcher found 465 person
deixis. the second types that mostly used is temporal deixis. the
researcher found 71 temporal deixis. the least deixis types found by

the researcher is spatial deixis. the rearcher found 29 spatial deixis.



